



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$10^{(-2)} - (-4) =$$

$$3^{(-2)} + 2 =$$

$$(-4)^{(-1)} + 6 =$$

$$(-2)^2 + 3 =$$

$$6^2 - (-10) =$$

$$(-6)^2 + (-7) =$$

$$(-6)^{(-1)} - 5 =$$

$$(-1)^{(-2)} - 8 =$$

$$4^{(-2)} - 2 =$$

$$3^2 - 6 =$$

$$(-10)^2 - 4 =$$

$$(-2) + 4 =$$

$$(-3)^{(-2)} + (-3) =$$

$$(-6)^{(-1)} - 4 =$$

$$6^2 + 1 =$$

$$(-3)^2 + (-3) =$$

$$2^0 + (-5) =$$

$$5^{(-1)} - (-3) =$$

$$(-10)^2 + (-3) =$$

$$(-8)^0 + (-9) =$$



Name: \_\_\_\_\_

Datum: \_\_\_\_\_ Ergebnis: \_\_\_\_\_

$$10^{(-2)} - (-4) = \frac{401}{100} = 4\frac{1}{100}$$

$$3^{(-2)} + 2 = \frac{19}{9} = 2\frac{1}{9}$$

$$(-4)^{(-1)} + 6 = \frac{23}{4} = 5\frac{3}{4}$$

$$(-2)^2 + 3 = 7$$

$$6^2 - (-10) = 46$$

$$(-6)^2 + (-7) = 29$$

$$(-6)^{(-1)} - 5 = \left(-\frac{31}{6}\right) = \left(-5\frac{1}{6}\right)$$

$$(-1)^{(-2)} - 8 = (-7)$$

$$4^{(-2)} - 2 = \left(-\frac{31}{16}\right) = \left(-1\frac{15}{16}\right)$$

$$3^2 - 6 = 3$$

$$(-10)^2 - 4 = 96$$

$$(-2) + 4 = 2$$

$$(-3)^{(-2)} + (-3) = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$(-6)^{(-1)} - 4 = \left(-\frac{25}{6}\right) = \left(-4\frac{1}{6}\right)$$

$$6^2 + 1 = 37$$

$$(-3)^2 + (-3) = 6$$

$$2^0 + (-5) = (-4)$$

$$5^{(-1)} - (-3) = \frac{16}{5} = 3\frac{1}{5}$$

$$(-10)^2 + (-3) = 97$$

$$(-8)^0 + (-9) = (-8)$$